
CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 

hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the fol-
lowing provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in noncon-

forming condition, or for any breech of contract or 
duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for one 
(1) year from the date of purchase by the consumer. 
Components of Küryakyn products containing L.E.D.s 

will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in regard 
to other manufacturer’s products distributed by 

Küryakyn. Küryakyn will pass on all warranties made 
by the manufacturer and where possible, will expedite 

the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online 
today–select the ”CATALOGS” icon. Each Küryakyn® 
product comes with a Proof-of-Purchase good for a 

complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other 
Küryakyn products, the motorcycle parts and ac-

cessories designed for riders by riders.

©2005 Küryakyn USA®  All Rights reserved.

INSTALLATION

Parts Included
		  1	 Driver Backrest Tube Assembly
		  1	 Mounting Bracket
		  1	 Backrest Pad/Bag Assembly
		  1	 Left Bracket
		  1	 Right Bracket
		  2	 Foam Pad
		  1	 Hardware Kit Including:
			   1	 M8 x 1.25 x 16 mm BHCS
			   1	 M8 x 1.25 x 14 mm BHCS
			   1	 3/8-16 x 1.75” SHCS
			   1	 3/8-16 locking nut
			   2	 M8 x 1.25 x 25mm SHCS
		  1	 Installation Instructions

Please read and understand entire instructions before starting installation.

Thank you for choosing Küryakyn!

In order to protect you and others from possible injury and/
or property damage or loss, please pay close attention to all 
instructions, warnings, cautions and attention notes regarding 
the use and care of this product.

WARNING!	 THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE 
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR 
SERIOUS INJURY.

CAUTION!	 This indication alerts you to the fact that ignoring the contents described herein 
can result in potential injury or material damage.

ATTENTION!	This indication alerts you to the fact that ignoring the contents described herein 
may negatively affect product performance and functionality.

Tools Suggested
Set of hex wrenches, combination wrenches, scissors

Strictly observe the following guidelines in order to use the 
product properly and avoid potentially dangerous accidents.

CAUTION!	 This product is designed for passenger comfort only; it is not intended to be 
used as a supplemental security support. Never exceed the maximum loading 
capacity of your motorcycle.

STEP 1	 Park the motorcycle on a hard, level surface; turn off the ignition

-cont.-

Fits: vtx 1300 and 1800 retro and s

1554-11HD-1007

d r i v e r  b a c k r e s t  f o r  VTX		      15 5 5



INSTALLATION

STEP 2	 Remove the rear screw and two strap screws securing the passenger pillion to the rear fender.  
Remove the two screws securing the driver seat to the frame.  Remove both seats and set the hardware 
aside for now.

STEP 3	 Remove the two seat brackets on the 
underside of the driver seat; set the two screws aside 
for now, they will be re-used.  See PIC.1.  

STEP 4	 Install the two included seat brackets and 
secure them with the screws from STEP 3.  See PIC.1.

STEP 5	 Locate the two included foam pads, 
remove the adhesive backing and position them on 
the underside of the Backrest Assembly as shown in 
PIC.2.

NOTE		  The corners of the foam 
pads can be cut off with 
scissors for a cleaner 
look once the backrest is 
installed.

STEP 6	 Re-install the driver seat; do 
not install the two screws from STEP 2 at 
this time.  See PIC.3.

STEP 7	 Place the Backrest over the fender and slide it forward between the fender struts 
and the seat brackets.  See PIC.3.

STEP 8	 Align the fender strut holes, backrest slots and seat bracket threaded holes and 
insert the two included M8 SHCS; leave the screws loose for now to allow for adjustment 
of the backrest.

STEP 9	 Making sure the brass bushings are 
in place as shown in PIC.4, install the backrest 
mounting bracket to the backrest tube assembly 
using the 3/8-16 x 1.75” bolt and the 3/8-16 locking 
nut. Place the bracket with the finished chrome 
facing towards the rear of the motorcycle (see 
PIC.5,) tighten the nut and bolt for resistance.	
	  	
STEP 10	Place the backrest/bag assembly onto the 
mounting bracket and secure at the desired height 
using the M8 x 1.25 x 14mm BHSC screw (shown in 
PIC.6.)			    	

STEP 11	Place the M8 x 1.25 x 16 mm BHCS screw 
in the backside of the mounting bracket (seen in 
PIC.7.) This is used for fine adjustment and angle of 
the backrest.		
	  	

-cont.- Page

2
d r i v e r  b a c k r e s t INSTALLATION

PIC.5

PIC.4

two brass 
bushings = one 

on each side

PIC.6

PIC.7

PIC.3

PIC.1

screws 
removed 
in STEP 3

PIC.2

Position the 
foam pads on the 
underside of the 

Backrest Assembly



INSTALLATION

Adjusting the Backrest
STEP 1	 Slide the backrest forward or backward until the desired fit has been achieved.  Tighten 
the two M8 screws from STEP 8 in the installation section.

STEP 2	 Adjust the final position of the backrest by turning the screw shown in PIC.7 in or out until 
you reach the desired position and angle.	
						    
STEP 3	 When you have achieved the most comfortable fit, reinstall the passenger 
seat.

STEP 4	 Backrest pivot tension can be adjusted by loosening and retightening the bolt 
that is located inside of the pad/bag assembly. (See PIC.8)

 			 
WARNING!	 IMPROPER INSTALLATION OR USE OF THIS PRODUCT COULD RESULT 

IN SERIOUS INJURY OR DEATH.

CAUTION!	 Ensure that the installation of this product does not interfere with the 
proper operation of the motorcycle before riding.

ATTENTION!	It is the installer’s responsibility to ensure that all of the fasteners (including pre-
assembled) are tightened before operation of the motorcycle. Küryakyn will not 
warranty components lost due to improper installation. Periodic maintenance may be 
required.

Ride On!

Page

3
d r i v e r  b a c k r e s t INSTALLATION

PIC.8

backrest tension 
adjustment bolt


